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Eiprecs the following as dagimel fractions.
G 27,
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Exercise 12.2
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Acha 8ot BE- B157 Moarks inth e annual endmivation
11 she 9ot £95 masks Find the total umber oFf mrrks
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Let X be the total number of marks of 4he
Saapram akion.
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Q6

peeptihi went to School for 216 days In a ful e
TE hev atendance 1590 Find e number gf
o aug on wlkhth BAE Sehpel LA S oPened,

Lek A be the number of days on whith e
School  waas ofened-

Thus, we have.
qov. of = 216

Aot

oo
g = 2le%ioo
9o

= Ayodays.

rarket 0F doys = alodsys.

Q7

A forden has &ooo £YEES. 127 of these ave mawg
Lyee 5 18 Levnon and the vest ave ovange trees
Find the numbey of ov onge bvees,
aiven that,
Totol nuwmber of tyees = 8,000,
Totel =loe v,

187 mande 18 Y. Lemont ovange’s. = loovy,
orange o= loaY.-1& 7 ManFo - | %/ Leman

= -o'.

Soovange = o'

oM. OXNANGES = o0 . of Aooo bveeg

= 12 Jae
Y=) o0

= Iyeo .

Totel Ovange LFeeS = 1400

Q8

Balanced Diet should cankeln 1271 of Prokeing,
s o0f faks and €34 o} carbohydratey. T4 a
clild needs Zgeo calovi€s in the 5 food daily, [ ind

The calovi€s the amount of eacl of these |n his
doily Food intake

e . i .
e 18 7-0f pyoteins = 1av. of 2600 calovies

= ]

—T%thlsoo:?,l.ﬂn
59 of ks = 2 .

= fats Lg::i L oipo = 65 o0calosies,

€37 o ¥ cosbohydvakes - 63

oo X EEDOs |6 3 g cnlovies]




Q9

A cwickedler Scoved o totel of 62 xuns in g
bhalih . He kit 3 STRES, g fouvs /2 Wwos and 2
5ivgles. Lkat pevcentase ol totel Tuns camein
0y sites.

Thass, toe have

Let pescent le "t

2 5Mes = 3XE Runs =[BRuUMS.

[ s 5= £ Ruw)
18 Runs of L = 6.2 Buns.
A= Eﬂ Wleo
[
4 = 29,037,
an fouwvs.
Lek percent be 'a!
afouis = @ x 4y Runs = 32 Runs. f'.'l-rc:u'qugz..ns]

32 funs of 4 = 62 Runs

4 = G2 xm-d
EY-3
[:? a = Hi.6l
) two's
2 41[.-301.5 = 2L oy Puns.
Y Runs of 2= 68 Buns

s E% oo
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A ocvicketer hik 120 BUnS in 150 kol duving o

test wmatt 20 of YUN S Came in 65, 3on inys)

254 on 2's awmd te geskin 1'S - How Many
sung did kWE Score in .

(v g's un 4s a's v Sirgles.
£ (i) Totad Rums =120

§lT &oT of guns came n§'s.

Let vuns be =

V-t

28 s 1ae a
i

A= 2Y Runs,

Ly Slt 20 in ql_s_

S_D ¥ \&e = L
166

L= 26 Runs.
Hence, Tequited Pund =36 punt.
o gy 25 in a's
25 wimo = A
1o

T ZoRUNS |
Henee, gequired Tuns

I TORCTE:

= &b BAns .
I'g pevcent = 100-80-34-85 =257
Totel BunsS =130,

=
._E %120 =% = A=-30Rung,
(= R=)

he Scoved 3o Runs sing Siha[ts.
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chid :
Ce gE 1EA, LRET HOW rmuch She iV eskD.

Radag EoxXn S 2a.ol ke _\rNEsJLn'\en'c W she ecyngl

Lek the imvestmenk be o
pa e o4 L =laT,

[*:eavyn= R& 7]

Q12

Row¥ dt_’rc.’;'li's ol We rcarm® Tna bank -He

depo&\trd BEs Iyyo inERe  Laone during 199 1 what
L as WS total incavne 0¥ bhe year 1999,

. b
Lei bhe incame be

lav- of L = l4yo

B
A = Iyye
(oo
oo
a e uoXio
L+ ®
A = 2o wioo

[

. his tolal incowme inbee Yeoy 994 = Bs.12 000

s Rs.18.000 .

Q13

fpav powder conbains sy rikve ond tor. suphus F.'.,dﬁ
the oomounk of gunpao:.:.qe_v WhiCh cax¥ies qpg mnitye.
tohat was e amouwnt of Buwn pPoudh €Y owld cun‘:aﬁh-
Bazkn S w, Pl
mfiven Phak,
s NiEYE 2 ARy,
The avrvnoun® of dun Powdey = 9
Lekt amounk of Gun Powder ke L

hur, 5, of = qkg

as

oo X% = 1k9
ho= ARY

z 3
=Rk

Given that Sulphisy, amount = 2.3k3. Then

Le¥ Tne omounk of Qun Powader be 'y
Thls, 1o . U'F‘:, = #.3kq

4= 2-Zdipo
i

o

4=83kq,

Hence, gqun Powder  ompynl = f3ka




Q14

i —

An alley of G omd copPey  fonsisis sy g Posils of tin
and, 108 pax s of copPeY, Find the” Percen&oﬁe ot

coppes o Khe alley.

Eplx
tin = Is paxiy 1 Copper = los Fo;(!:s

Total = 18 Fartf tlosparts =2, pavks,

Percentage of coppey =<oFPev paits

Yotal <90
-t 1
(=]
2o o
= a5y

Q15

-,

An alloy  canlain & 25w CoPPLEY. Yoy nick el and resk
ZiNE Find the mass of the zine in ks 0f allog.
élll‘r Mass ok a.Lln3=1h%.
CoPFev M= = 2,9 7.
nickel Y= = your
TiNC /s = |Q0/KCOPPEY V. ~Nicka] y
= oo =2y,
= 2w,

2av, 0f L¥8 = mass of zivie

as
TEe %10009ms [k ciomed

%Mo‘ss ef Zinc =

= S goawm.

Q16

A Motonist Travelled. 122 <llomete™s befove his

givel stop T4 he haad 'or. af s Journey to Complete

ak this Peint.howlong wask dhe iotal Yode

Sofl - Molosis i ¢ (st
savelled Hstance _ 122 k.

Total vide = §

a1r o of Total wide - 122 K m.
joxTotal wide

oo = kBR2Em

Totalwide = 122 wigg

ke
o ™

SoTokal wide — 1820 ki

Hence, Totol wide - 1226 km




Q17

J A certain School has 200 students, 143 of @lgwm,
ave boys It has 2, teachers .
e wikhot PCTCEH\:GQE

amnd, tEacheEy

12 0f whom aye

n e - D*F'tntcu no - of S tudedd
cal |z D)

Total Students = 340 .

Total Teacheys = zo

Boys = 142t Men teachers=y |2y
Total no ol temale (students and beachers?y

= Total - wnale
T B%e-yain =g,

Fewale Pevcent = Total FPm«l; _ & xwo
Toked 0% T T33e

TV

= 82,

Q18

Amans income (5 20'e l€55 than thabt of Anill.

How much  pevcent aril's  income moarte Hhan Amans
imcome .
i

Lek Awman 51N come be 't

Arit's  incowme be 'y
Given thakib
A= i -mev g

A= J- 2

&

5=

Y d-
Fl.as5+=Y.
Lho.pst =y,

'*"f"il—;d.r_ by,
[Y=0]

ntasw.d =y,

Kmnn's!ncnme{-a';'; A L .
5¥ Awom 8 ine - . 1
OME = Amit's

'Neo e

s
Ve B8 ' AFILS ncome  ppoare thawm Arnare s >
Qe

Q19

The value of a N A chine defpreciakes every yYyeav
by 57 i the FeEwSent Value of the machine Le

R s5lobooo, whak il be volue witev 2 Yeang

Present Value of the Wackune - gsios cog,
Ggav\
B ke a2 vWale of Hae machin e
L RSI;DOPDO ~5% of |,o0,000
= RS5l,00,000 - [iooo,
= 45,000,
Adter 4 Yeay value of the mackine = 95,000
alker 2years yolue gf Hu Wacking = 95,600 - 5. (95 00p

= 95.,000=4 750

Ao,250.




Q 20

The  populatiorn of atown incveases by 10%- arrusliy
24 tre Fresent popidation T4 60000 whak il beoyg
valdie of town after tuee Yeawss,

Fresent Pepulalion af a bown = L0 Doy,

Adlex 4 Yeat populekion = 60,000 4107, Present
FoPulation

= Bosboo + 1o

o
oo™ 60000

= &6.000.

Alter 2yeavs Populabion = L€ aoot 1oy LA-Ttera yeay
- ec n Fopud ation)
. eeet IS wisooo

Population afbes iy5= 1.3 foo,

Q21

The Popilakion of o kown incvCases by 107 annaally,

T the present Pb?u:.lﬂ-lriﬁn is aason, find iks
Populakion ajear ougp.
Let e Pofpulation of the town be oo o Yeay
ag0 Then,
Incsease In Pofpulation = Io7-Df oo = 10.
Fresent Populakion = lin

TF present poPulation 1510, Pepulation ayeas ago

I fpvesent population 15 1, Popul akign Ajeat age - loo

1§ present Populationis 5.92,000 Fopulaki
! akion

AMeay Ao = leo
3 j "‘m} %a&,coo

= Bp.000
Hence: € Pofulation of bhe powen 49 eav ago =

AakPE LWVAC BLUS o Ae draean - =

Q22

e}

=ipg-

[ag.

T T TR T WD O Q{jea_.(a:w:g

Anklt WAS Fiven an increment of |-
of Loy s by
S Solony

HiS nfwsalary 'S gg ne7 5. What
: LIS the aq),
LAYy

be favre INCTrEment.

Let the Salavy k€ looayear ag, the
" ",

InCYErnent = Lo

Pyesent sadary = \lo. Fopud Solaxy AMERT A O=|on |

T Present salawy is 4. Populel 90 aYaay aqo= 190
e

TH Present salany 15 3515, population ayeny
&

oqp = Ioo
80
o i5 s

Hence,pop olakion ayeps BS 3250 .




Q23

Tnthe new budget, the pwice of petrol Bose by %
B4 how muck Percent must 6ne Yedurce the ComSumplio

So thak the fapandictiar does not MoTease

Lek b€ Consumpkion ofF faetrvol o vidinabiy

looLit and 45 pwvice b€ BR300 The

Mew pvice of locolLit of petvel = gg)io

Lincvease by jo'v.1
loo Lit 0f petyol.

S Rs ‘oo can fELLL = ( ‘—l':’Tgxloo) Lit of Petrol

Now?, RS o can fetch

= Iooo
—_
il

Camsumption = { - lO_Ql_p) ”
| L

Lik of petrol .
CRedackion n

Q24

= loo,

. . in
Mohan s income in Rs 16500 Pev monkh. We saves 11y,
of his INCome Il Lic incyease by Lote Then Bye vedu
WS savivd B IR hes pagch dofs hE SAve naoa §

pMohan' S incom e = Ra g, 5y,

Mohan's income after increase by (o

15500 + 15 S0o% 10
oo
= -Moso,

Mohaxn's  Savimas o =il - . =lovy,

Mahons Savinds = 7. of Hoso
= oS ovo
loe

% e SaVES Mon€u Caame as befare

= gs i1oS -

Q 25

e 5 incowme & B0V MOTE than that of sShaly

Let chikha's Iincome he ol
ghalu's 1neome ke 'y!

G |7 A= 4t eo

oo

Y4

look = l60Y.

—_—h =
(F=1=) 4
5 -
2o o=
Py =
- BA

S Shiwo's Salory - 3757 of shithes saloy <
sholi's salary.

Shol's income st Lese than glicha's,

s

Lahat pevcent is Shalt's meome 1855 than chiklds?



Q 26

Rz 3800 ic to @€ shaved among
Fivst Ppevsow gets S50V. Of Hae
qets G0 0f the third. How
e aet?

ek ol asmount = BS %, 500,

Lek fivst Pevsen calary

=4
serond Pewson Salavy =y
Thivd pesson Salaxy = 7
- 50
= s 52 y
loo
== oo = SoY
=> W = 2Z.
= A =32Y = g

Yz + 2z + 2z = 3,500,

T2

= Bs %.506
L\\Slﬂa.scm.
3= &% = looo,
A= y2 - 8,000,

Fivel Pevson salory — 2,000
Second. Pewson falary = |pog
Tisd pevzan

S(\lﬂ:u_.l — 5rﬂ)o .

three Feopile sotht

second . wWho in b

rACh Ll Eadh of

= s0%. 4. = 52 4
o

= 80, 4.

L2ty =yq.
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